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For the following 30 multiple choice questions, summarize your answer in the following table:
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Answer the following 30 M Qs: E -

Consider he following sketc
and answer the next three question

1. The value of the variable cost per demand unit (c,,) can be
calculatcd as:
a) A4 b)

¢) (L-K)/(M-J) d)
e) E-F

A o gt s

*-F . 4. =
- i Faa = !

7 3L Era Tl TEE o S e = L

2. The maximum profit can be found by the length of the line:

a C-D
c) L-K

3. The value of the fixed cost is:
a M b J
¢ K d L
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Cost and Revenue
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2 s0

/ compoundmg of the cash inflow equal to : \
the outflow in this diagram for r = 2% 1s: T T I
0 1 2 3 4 5 .6 7 8
VZ
a $45.7 b) $9287.8
c) 3$9139.2
e — *

5. A local college parking enforcement bureau issues parking tickets that must be paid within one week. The
person receiving the ticket may pay either $5 immediately, or $7 if the payment is deferred one week. What

nominal interest rate is implied in the arrangement?
a) 40"/ | b 1040%

b)  Idon’t recommend continuing.

s are mdiﬁerent d)  The interest rate is not
know the answer.

uu , PW(25%)= -

bet i; yhave a loan that is compounded continuously
b) False

me project, your MARE :
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income 1000 3000 5000 JD

S
11. A machine costs $255¢ on Januany '.E:';‘“u anid $3930 on January 1, 2013. The average inflation rate over
these three years was 7% peryea S 1.?' mcrease in the cost of the machine from 2010 to
20137 '
a) 24.03%

c) 19.07%
e) 33.11%

12. If you want to receive a 7% inflation-free return on your investment and you expect inflation to be 9% per
year, _whatactlml interest rate must you eam‘7

h

-l‘
S SPIL, 1 ’

13. A person just turned 21 years old. If inflation is expected to average 2.4% per year for the next 44 years , how
much will $1 today be worth when this person r retires at age 657

a $0.3 I b) 3045

c) 30.35 d $0.75
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[ 1.E.G ST years before being sold. The estimated SV for depreciation purposes is to.be $25 000. Use this information

7 to solve the next 3 problems. _
f 14. Using the SL method, the annual depreciation on the equipment 1S

a) 3$50. 000 b) $51.500
c) $52.500 d $55.000
15. Using the SL method, the BV at the end of the depreciable life is
a $0 | b) $35.000
gl . $25 000 d $50.000
16. If SL depmciation is used and the equipment is sold for $35.000 at the end of 10 years, the taxable gain on the
disposal of the equipment is |
a) $35.000 by $15.000
c) $25.000 | d $10. @99

A small pump costs $ 16000 and has a life of elﬂt years and a $2000 SV at that time. If the 200% DB

methodis used to depreciate > the pump, the BV at the end of year four is
' b) $8000

d) _§5 000
and for a country's exports causes its currency

femand for imports causes its currency to
SCiate; appreciate.

in

gepr eczate, ialte.

yeciate; mm. ec z'ate' appreciate.
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a) 33 days ".'-.'.:
C ) '2 9 d_a_ ES \E ._Ir f{.:.n‘;ﬂ
21. Either of the service ﬂ Kies b

JETON YW can :* -
incremental cash flow if N#% r=s 3 .: | ’ |
: CAlternative A | Alternative B | ===
260,000 | -40,000 ﬂ - /{& >

AIn process. Find the Rate of Return on the

e i - C——— e

|
| First Cost$ ' |

Annual Cost, $/yr 219,000 225,000 j N
| Salvage Value, $ 10,000 |  $8000] | __—

b 9%

79 The cash flows associated with two alternatives are tabulated in the table Yemn AltA AllB B-A

below. The equation used to find the rate of return on the increment of () SIS0 S3808) - 1000
investment between the two alternatives is LOOO 13000 500

i i memdian o
OO RGO SO

TOO0 TS0y S0

-ﬁ
oy
a

a) = _-1000 + 500 (4/P, i ,3)
c) 0=-1000(P/F,i, 3) + 500(F/A, i, 3)

9
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EEEED 23. At the end of each year, a worker invests $2,000 into an account for 4% interest rate. The worker makes every

payment for the next 30 years except for the payment at the end of 10th year. That is, no money is invested at the

end of year 10. How ‘much money will be in the account at the end of the 30 years?
a) §107.788)\ b) $109209
c) 108568 d $112170

24. The fixed costs for producing a certain item are $200,000 per year. If the item sells for $50 per unit and it has
a variable cost of $30 per unit, the number of units the company must sell each year to break even is:?

a) 11000 units b) 9000 units
c) 18500 units d) 10000 units
e

25. The overall rate of return results shown below are for independent alternatives. If the company’s MARR is
10% per year, the ones which should be selected are: *_
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§tder the cash flow d1agram, 10W U]
1622 b) $ '

L

The internal r "}-r
ween project :r"l_n?él

a) 10%

¢ /3/200/100 -1
e) less than 10%

29. The present worth of the following series of payments for

jfgf_’@ per year is:

a) $1090.4 b) 3463

e) $1253.4 ) $8904

30. As the price of a bond rises, the yield on the bond:

a) Could rise or fall b) faﬁs c)  Rises. d)  Does not change.
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F/P
1.020

1.040
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1.104
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1.149
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1785

A/P F/A

1.0200

SISl
3468
2626
2127

1.000
2.020
3.060
4.122
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1545
1365
1225

Compound Interest Factors

P/A

0.980
1.942
2.884
3.808
4713

6.308
7.434
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F/P

1.040
1.082
1.125
1170
1.217

1.265
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1.369
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F/A

1.000
2.040
3.122
4.246
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P/A

0.962
1.836
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